
8 fiUUlMENlH OF MOSIU.

5il

Tho (lots at the double bar show that the part is tc be

repeated, anu tho figures denote that the perfonner, in singing

it through tho second tirat, is to omit th«i bar marked one,

and sing that markr^d two instead.

What are Tied Kotfs ?

When two notes on tho samo line, or spa:", are joined by
a curved lino, over or under them, tljClirst only is sucg,

and allowed tho full time of both.

What ia the use of a Double Sharp t

A double sharp (ft) raises a note two semitonea

WiMt ia the use of Double Flat ?

A double flat (ll ) lowers a note two semitones.

JIow is a tingle tharp or flat replaced, after a double one?
By a natural and sharp, or a natural and flat.

What i» aiii'jini/ Legato f

Singing smoothly, and blending one note with the next

;

it is indicated by a curved line under or over the notes.

What is singing Staccato ?

Separating tho notes, and singing the notes short and
distinct from each other ; it is indicated by dots, or pomted
pecks, placed over the notes.

What i$ the use of a Pausef (^rs)

A pause over a note, or rest, indicates that the performer
may bold, or pause, as long as he thinks proper.

Why is a ])auiie tometimei placed over a double barf
A pause, or the word Fine, sign dies that the piece is to

end tuerc, after a Da Capo.
What ia the vieaning of the word Bit t

Twice—that is—the passage over whidi it is placed, is to
be repeated.

At one dot ajltr a note inereoHt tt» length one half, what
ia Ih'', effect (f a acroiid dot i

Tho Second dot is equal to half the first ; conseriucntly,

a quarter note with two dots, is equal to a quarter, eightOf
toud sixteenth.

In what manner f» a Whole Bar Rest marhed ?

The samo as a whole note re.it, be thj value of the bar
what it may.
Hoio are Rests ,'or more than one bar marked f

For two bar? rest, it is made from ono lino to the next

;

for four bars, ono line to the next but one. Sometime a
fiOMro expressing tho number of bars ia placed over the s.gn
of the rest, and when tho number of oars rest ia large,

iigures only are used.

//ojo do you count several bars Rest?
By ii^^ming the number, instead of the word okk, at th«

first o' each bar.

Ex.^M: ;3E

These five bars rest should be counted

I
1, 2, 3, I % 2, 3.

I 3, 2. 3, I 4, 2, 3, | 6, 2, 3, |

instead of always one, two, three.

Explain the difference between Melody and Harmony.

Melody is a succession of sotmda. Harmony is a combi-
nation of sonnda.
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